\¥

The p;

malnit;:gienous base found in place of

(A) Adenir?eRNA ItZOB])ecule i

( i Uracil

W){ | Q(E‘:ruanme . (D) Cytosine

T Ena? " ¥ R % v
TR a1y 3

(A) W (B) TR

(©) Tenfe

€Cosystem in the world ?
(A) Forest €cosystem .
(B) Desert €cosystem
(C) Grassland €cosystem
(D) Ocean ecosystem

?:Hffmwmﬁﬁﬂﬁmﬁﬁaaﬁﬂ—m
(A) T oiRtRafE) g

(B) Wowret wiftRafe o

(©) =mafr uifRafe 4

(D) 9T giRafy=hr o

In which form, does water occur in gaseous

. state in the atmosphere ?

(A) All of these (B) Snow particles
(C) Water drop (D) Water vapour

JrgRvsH W o, T s ¥ few w0
T o § 7
(A) 3 &t
(C) @ E©

Which of the three ‘R’s are regarded as
environment friendly ?

(A) Recycle, Reorder, Repeat

(B) Reduce, Reuse, Recycle

(C) Reduce, Recreate, Reuse

(D) Repeat, Reorder, Recreate .
Prefifad # ¥ B @ & R q@faw
w7 -

(B) f&1 =1
(D) wreraTSy

5

6

7

: . disease is the triple
Er?tl;gizng;} P?fr;?;;fr}:in(:z:red to childreg ?
(A) Dengue, Polio, T'yphoid
(B) Diphtheria, Pertussis, Tetanus
(C) Diphtheria, Polio, Tetanus ‘
(D) Diphtheria, Pertussis, Typhoid
=i @1 fraw wodtem (D, P, T) fod T
A ¥ & I ¥ 7
(a) ¥, Qfrar, eEmas
(B) v, ggar, e

Which of the following is used as an
anticoagulant in blood transfusion ?

(A) Sodium nitrate

(B) Sodium citrate

(C) Sodium acetate
(D) Sodium carbonate

frefafaa & & Rea werd &1 @ omar A
WU B AE ST Rear S ¥ 7
(A) HifETT TR

(B) Wifsaw gz

(C) wifsmw wigee -

(D) af¥aw FEhe

The most common cause of anaemia in
our country is :

(A) Calciim deficiency

- (B) Iron deficiency
(C) Magnesium deficiency
(D) Potassium deficiency

X m%srﬁqﬁiﬁmﬁm@mﬁﬁ

Tafraaa H oy ?
(A) Ffvaay

(B) ®ig

(©) Ffirm

(D) drefimm

[P.TO.
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11

2

How many contrasting characters did
‘Mendel select for his experiments ?

WTH I ooy W F fag Reay e
AT gy q 7
(A) 10
©) 8

®B) 7
D) 9

_Who_ proposed the chromosomal theory of
Inheritance ?

(A) Sutton
(C) Darwin

(B) Lamarck
(D) Hooker

v e ¥ damily & R R |

T fmar ?
(A) gz
(C) sRiT

(B) W
(D) ¥

Pyramid of energy

(A) is inverted only for sea ecosystem.

(B) is always inverted.

(C) can be both inverted or upright.

(D) is always upright.

ot Rt

(A) Ha® THE TGS § SEN ST ¥

T |

(B) T39 @A araedn § B ¥ |

(©) mm@:ﬁaﬁa‘fmﬂrﬂm
.

.(D)H%El@é‘rmﬁam%l

Who was awarded with the Nobel Prize
in 1975 for the discovery of ‘Central
Dogma Reverse’ ? .

(A) Baltimore _(B)' Monad

(C) Dalton (D) Khorana

Fda o e @ @ % WY e
1975 ¥ @ e ¥ foe e
fpar T ?
() wedre
(C) steeH

(B) TS
(D) I

i

(A) 10 &

The flow of energy in an ecosystem
follows the laws of

(A) Photochemistry
(B) Kinetics

(C) Thermodynamics
(D) Probability

Wmﬁﬂqﬁﬁﬁmﬁwﬁmﬁﬁamﬁfﬁ
& aﬂﬁqz’m% ?
(A) TBITEA
(C) ST

(B) Tferat
(D) ¥WE=Ear

In which year was the Indian Patents Act
passed ?

Ry & i e i gal
ar ?

(A) 1990 (B) 1960

(C) 1970 (D) 1980

Central dogma in molecular biology was
proposed by

(A) Francis Crick

(B) Gregor Mendel

(C) Thomas Hunt Morgan

(D) Frederich Griiiﬁth :

it st fstrt ¥ e frata &t foEm
X wga P | }

(A) wit| B (B) X FsA

. (C) um@ & Arf" (D) Wi Ry

If 2 A of current is flowing in a conductor
from a battery of 5V, then the resistance
of the conductor is :

(B) 2 Ohm

(A) 10 Ohm
(C) 2.5 Ohm (D) 0.4 Ohm
5 e @ Al ¥ ofy Tl T W2 A

a?rummﬂ%?ré‘rcﬁ% ?ﬁmmqﬁ-&a'
BT

(B) 2 &M

(C) 2.5 dAm (D) 0.4 afm

[PT.O.
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16 A plano conyey lens (=1
of curvature 20 ¢y, ; -5) with radius

18 silvereq
S at
urface. The POWer of the S)’stetll;e iy
is -

T oo

B R h(uqs).aﬁmm

mﬂwéow%'mhaﬁam

fre # w3
Eﬁf&mm(power)s‘pﬁ_ o

@ 25D - (B) 15D

(© 10D

17 s law is 4
Lenz's law is a consequence of :

(A) Conservation of current
(B) Conservation of charge
(C) Conservation of momentum
| (D) Conservatipn_ of énergy
o & Frm aftomm §
(A) 9T & FTET &
(B) AT & TI& @1
(C) €A & HET FH
(D) HSIl & HXET @l

18
electric tester ?

(A) Tungsten lamp
- (B) Sodium lamp .
(C) Mercury lamp
(D) Neon lamp o
frga e A P éw q?m % A
Sy fear ST 7

Which lamp is used as indicator in an |

19 The law of reflection, 'Angle of mCIdence
¢ is equal to the angle of reflection’, is true
for reflection of a ray of light on -
(A) All of these
(B) Plane surface only
(C) Concave surface only
(D) Convex surface only |
¥ T A ¥ gHS B TE B
T & g wE o -
(A) A |
(B) %9 §HAW |G b R
(C) e Sraad §ae & ol
(D) %aw vaw qag & fod

P

20 Which of the following cells can not
produce continuous and constant current
for a longer time ? ’

1(A) Lechlanche cell

(B) Lead accumulator cell

(C) Edison's cell

(D) Daniel cell

fr &t & ¥ fpw A@ A Fat 9 Fraa
T R TG % {9 uTT e @Y S Hﬁﬁ _
%7

(A) oSt ¥ (B) dir duws a9
€) @We ¥ (D) 3w Fw

'21 A lens behaves as diverging lens in air

(,u=1_) and converging lens in water
(1 =1.3). The refractive index (1) of the
_material of the lens is

Q"GB?FH?IT{; (p=1) ¥ soarll &9 qF
T (p=13) ¥ el & & T
GETT HIAT T | A9 6 qard &l Gmiﬁhﬁi

(u) & :
(A) u=
(Q) u>13

0+13
LO+13 my 10<p<ts

D) p<1.0

[PT.O:
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* 32 [-V graph for a (conductor) metallic wire

at two temperatures T, and T, :
the figure, then - : Tz 1s shown In (A) Eddy currents energy into mechanical

energy.
(B) Mechanical energy into electrical
energy.

I (C) Electrical energy into mechanical
T, | . energy.

(D) Heat energy into mechanical energy-
T2 oo e W ¥ s o
(A) e Tl B Tt w1 atn St o |
(B) aif=® it & foga oot ¥ |

(C) T et @ AP St F |

(D) &A1 Sl 1 qifsd ot 3 |

23  An electric motor converts :

I
|
|
i
|

<V

(A) Cannot be determined from this | 24  The frequency of direct current is :

graph- S (A)20Hz  (B) Zero
B) T,>T, (C) 50 Hz (D) 100 Hz
l © T,>T, ' ' : fae ara @ smgfa ¥ ¢
| D) T, =T, (A) 220 Hz (B) I
% s X % g & a1y AT, | © 0H (D) 100 Hz

W LV dae R T, - |
: 25 A ray of light is made incident on a

concave mirror, parallel to its principal
I/ axis. After reflection it will -

(A) pass through the principal focus

(B) pass through the centre of curvature

(©) move parallel to the principal axis of
the mirror -

(D) pass through the pole of the mirror

v B U6 R um e adur oy

v TR OA T ¥ AR SR B ey
| ¥ | TEdd % uyan a% -
(A) 7@ TG § AR T fwar o www | (A) & BHE ¥ TN
® T, >T, | (B) T F= N T |
©) T,>T, (©) =1 % o o1 % WA 7Y e
D) T, =T, @) T % g3 ¥ ek
5] X | 5 - [BT0. -
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26

27

28

- -

The unit of rate of flow of electric charge
is -

(A) Ohm (B) Volt.

(C) Mho (D) Ampere
TS AT % Yars & 5T B A § -
(A) Gﬂ'q (B) zh-z

© = (D) T

When white light is incident ona green
leaf

(A) all the colours are equally absorbed
by the leaf.

(B) the green colour is mostly absorbed
by the leaf.

(C) the green colour is mostly reflected
by the leaf.

(D) all the colours except green are
reflected by the leaf.

;ﬂ@ﬁﬂﬂﬁﬁﬁT@ﬂﬁﬁiﬁ%‘lﬁT%.

(A) Tt % g it i 1 STEier FEE
®F A E |

(B) T & &I YA &6 § T 11 A
B T

(©) qﬁ%mg@wﬁmmwmﬁa
BT

(D) T F T T 1 F sl o=
o o1 wrEkda o ¥

The defect of eye, that arises due to the

cornea of the eye having different

curvatures in the horizontal and vertical

planes, is known as :
(A) Astigmatism

(B) Long sightedness
(C) Short sightedness
(D) Presbyopia

. o5 gRe A S oG B BT B Il &
‘ aﬁmamewfwaa‘rﬁﬁmé%%m

=T BT ¥, HEAT

(A) tRemfe (@) a gfe
©) Pz 3 (D) U gEfe

LY

he web browser qvailable with first

T
» graphlcal user interface was -
(A) Firefox (B) Opera
(D) Erwise

(®) Chrome

(C) A (D) TTERA
30 The statement j++; is equivalent to :
(A) i==; (B)I—I+I,
©€)izit 1; (D) i= i—-1;
HYF j ++; A T -
A i-—= & B) i=i+i;®
- © z"—;+1as (p)i=i—1;as

_company _introduced emoji

31
mtematlonally on their mobile devices.
' (A) Motorola (B) Samsung
© Nokia (D) Apple

mﬁ%m@ﬂmwsﬁﬁﬁ
(emOJl)WQﬁﬂqaﬂerfﬁaTsﬁ%ﬂ'l‘{Hﬁ

4) H’E‘rﬂw (B) QT
(C) ~iicean - (D) Twd-

2

32 Every.XML document must begin with a

' (A) XML attribute
(B) Root element
(C) Child element
(D) XML version details
| U® QUG Sl % 9
ST T e |
(A) THTATH g
(B) & udiHe |
() =I5 Wtz
(D) Teeaue o e

- —— —
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33

34

35

' 36

Los1 X

India's first super computer PARAM 8000
was launched in year o

WA & qed G FHGET qH 8000 B
gt ad ¥ fe

(A) 1992 (B) 1990

© 1991 (D) 1989,

is an Indian software_application
developed by ISRO to explore 2D/3D
representation of earth surface.

(A) Bhudev (B) Bhuvan

(C) Bhumi (D) Bhuyaan

et @ §ag & 2D/3D  fRfsrr/frequr @
qaT T & fog ESTURARBEEIT G
TH RO GFeaal THhe ¥

(A) T ®) T

(€) w1 (D) Ya=

Open source tool used fo;’“;'patial data
analysis is o
wiyw 371 fagdwwr & fag wam § om

{

T AT A Wy -
(A) QGIS |
(B) ArcGIS

(C) IDRISI

(D) Oracle Spatialjet

ol

[

is the first robot with Artificial
Intelligence to fly in space. ™

(A) Spidernaut  (B) CIMON

(C) Valkyrie R5 (D) Roj_é;j};aut

Fhm ghe (enEfefmm $fiw)

¥ wrg st ¥ g awn wew TR I

(A) WESTAE (B) WEAT -
(C) TRy RS (D) VR

37

38

Select the correct statement about -

thermosetting polymers — |

(A) All of these

(B) Don't melt or soften on heating.

(C) These are cross-linked polymers.

(D) Cross-linking occurs during heating
and when it cools it hardens
irreversibly. |

qAYge DI & (T W FYA B AT

T

(A & o0

(B) T W W 7 fewd ¥ 7 & = e
(A

(€) ¥ fidwag Tges ¢ |

(D) ™ W W e 4 g S Bl
forafor grar & quT 99 3 S HW ¢ |
mmﬁmﬁum@mﬂm%l

Match List-I with List-Il and select the.

correct answer using the code given below
the lists :

List-I List-11
i) PVC (a) Thermosetting
polymer
(i) Bakelite (b) Thermoplastic
) polymer
(iii) Vulcanized (c) Fibre

rubber
(iv) Nylon 6  (d) Elastomers
fre-1 o fie-1 & B @it 9 fe

A R T S F WA B T8 SO @
9gq B :
el fe-I1

@ WA (a) TUGE TEAH

(i) I (b) aIgEeY TEew
(iii) aﬁ'fﬂﬁ ™ (¢) wEEC (XY

(iv) THEE-6.  (d) TR e
Code /918 ¢

(A) (@)~ ®) (i) - (@) (i) - (¢) (iv) - @
®) @) - @ (i) - (b) (iid) - (a) (iv) - ©
(©) @) - (b) GD) - (a) (i) - @) (iv) - ©
D) @ - @ () - (b) (ii) - () @iv) - @

[PTo,
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39

40

50 Fr %
i gy Y S B
(A) H2C CH2 '

l..]
(C)th
H

%

How many structural isomers are possible

for Pentane ?

YA & fopem SXaToS e g & ?
A) 3 B) 0 '
© 1 D) 2

Among the 4 common type of refrigerants

- which has the highest ozone depletion

potential ? ,,
yofces & 4 R Fard A | Biar Iee

i e & @ § 7
(A) LTCs .

(B) CFCs

(C) HCFCs (D) HFCs

,Correct electronic configuration of |

chromium (Cr) is -

FRE (Cr)mﬂﬁsﬁww%—
(A) 3d*s! (B) 3d*4s?

(C) 3d%4s! (D) 3d34s?

<! | . Q

43

44

45

46

v
NH; has a much higher b.p. than PH,

because o .
(A) NH; contains ionic bonds whereas

PH, contains covalent bonds .
) NH; has a larger molecular weight

(C) NH; undergoes umbrella inversion

(D) NH; forms hydrogen bqnds

PHﬁ?fgaﬂTﬁNH:,aﬂﬁmﬂﬁr?ﬁT

twits

(A) NH, ¥ amafre <4 g & vt PH;
¥ weHdoe 99 |

(B) NH, &1 amfvaes a1l B ¥

(C) NH, & amien g9 BT R

@) NH; ¥ TEgem a9 & BT

White lead is

Hihg e (W) ¥ -

(A) PbSO; - PbO

(B) PbCO;

- (C) PbCO, - PbO
(D) Pb(OH), - 2PbCO;

Monomer units of Nylon 6, 6 are —

" (A) Terephthalic acid and ‘Methanol

(B) Adipic acid and Hexamethylenediamine
(C) Terephthalic acid and Ethyleneglycol
(D) Sebacic acid and Terephthalic acid
AN 6, 6 B THAD IHIEAT & —

(A) T o 9 AdATa

(B) tRfE o 7 YRR
(C) T v 9 FURAEFTETREE
(D) faadfts o 7 Arwdifes onw

Which is an example of physical change ?
(A) Paper burning,

(B) Metal rusting

(C) Silver tarnishing

(D) Water boiling

BRaR R LT R e —

%7 -
(A) SO &1 ST
(B) ST

(C) =& = wwew g
(D) o &1 FEw
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47 In the reaction KMnO, + H,C,0, +...
— MnO, + CO, + equivalent
weight of KMnO, is 52.66, then molecular
weight of KMnO, is -

SfiiRaT KMnOy + H,Co0, +..... —
MnO, + CO, +.......... , % T § KMnO,

| W R R 5266 § @ KMnO, @
| SR ¥ —

-----------

(A) 263.30 (B) 158.04
(C) 52.66 (D) 31.6"

‘ 48 Inwhich compound, the oxidation number
.~ .of oxygen is positive ?
Pt & 4 fow 9w &, offder 2
HTFIHIT TEAT SFoTH & 7
(A) OF,
(C) Nay0,

49 Activity of heterogeneous catalysis

-depends upon :

(A) total surface area, number of active
sites and method of preparation

(B) total surface area only v

(C) the number of active sites per unit
amount of catalyst only

(D) method of preparation only

Tt SETor @5t whpaan fiR wE & -

?_ T T A R W

. (B) ¥aq p9 OE 6N W

(C) ¥aw afFa H=i B GO T TR
B £ G A 1 L0 LS

(©) ¥ T W e

e s
e s

have the ability to change their oxidation
' number are _

(A) All of these

(B) Transition elements

i (C) Noble gases

. (D) Alkalis metals

. P gmtE A ad

. @awh (@) FE

(C) =@ {9 (D) & a1g

o1 s

| 52

() T T e, ahe e ) o |

' 50 The elements which are good catalysts and

aeasox SN (g

51 How many cubes of 25 cm edge can be s
put in a cubical box of 1 m edge ? [y 2

1 9 fF Ol e ey A, 25 a0
frm a@ R M @ wr g ¥ 7

(A) 64 By 4 | S
Ae)

(C) 16 (D) 32
If point A (x, 3) is equidistant from the
point B (3, —4) and C (-2, 0) then -

afk g A (x »), &g B (3, 4) T
C(2,0)q @9 qU W e aF -

(A) 10x +8y =16 (B) 4x—8y=16 |
(©) 4x-13=2y (D) {0x-8y=21 g y¢

_ C o
In the adjoining figure, ZADE = /B, S

%0
AE=8cm, EB=7c¢m, BC=9cm, ‘
AD=10cm and DC=2cm, then the

length DE is -
/ : g-b)v?"o)

LT

0\—(\.

/
AL

boo

53

w»

- (B) 2..1 cm
(D) 6.75 cm

(A) 7.8 cm
" (C) 6 cm

dw fr ¥ ZADE = /B, AE=8%f,
EB=7%H, BC=9%, AD=10%h

qu Dc.='21?nﬁ, 7 DE @ T 9% ¥ -

v o
Qs " Ly
'/(o
\
B - C |
C(A) 7.8 T B) 2.1 ¥
(D) 6.75 Tx

[PToQ,
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54  Two Paréllel lines AB and CD are

C’*‘/N .
F ‘ :

intersected by a transversal EF at M and
N respectively. The lines MP and NP are

the bisectors of interior angles /BMN
and <DNM on the same side of the

~ transversal. Then /MPN is equal to :

U % Yar BF, & wwrae Y AR
T CD ®l %R M 9o N v aredt ¥ |
@ MP @t NP, ferd e % ww @ ok
T et By ZBMN T4 ZDNM

%ﬁawéza%_ta‘ra?m ZMPN &1 91 ¥ -

(A) 1200
(C) 60°

(B) 45°
@) 90°

The average salary of a group of unskilled
workers is ¥ 10,000 and that of a group of
skilled workers is ¥ 15,000. If the

combined average salary is T 12,000, then |-

the percentage of skilled workers is -

9P A ¥ TE W @ s I
T 10,000 ¥ TN Py A F wHE. @

9 X 15,000 ¥ 1 AR T W @ Wy

ol A T 12,000 B, < Foret st @

sl ¥ -

65]

(A) 60%
(C) 40%

)

(B) 30%
(D) 50%

1600
2597

56

57

58

7

39

10

B

e 7.
o

»

log5 1024 is -

the value of

R logp2= 03010, 7 logs 1024 7
q ¥ - '

(A) 1.;586 (B) 4.306
(©) 3.010 (D) 6.931
630\9_ - RC

116) R ALE)W' S

A pa\ssenger'train takes 2 hours less for a
journey of 300 km if its speed is increased
by 5 km/hr from its usual speed. The usual
speed of train is -

(A) 20 km/hr (B) 25 km/hr

(C) 30 km/hr (D) 15 km/hr -

300 5l g 7@ B § TH AR Ty
2 ¥ w9 99 Wl ¥ Ay SHa TRy "
T & 5 e, Ter & W @ tiﬁm—e"raﬁ
T T ¥ —
(A) 20 feeiiye,

(C) 30 T/,

(B) 25 fepeiiyd.
(D) 15 ferslife.

Which of the following is an equation ?

| ﬁwﬁ%aﬁﬂwﬁtﬁm%?

(A) (x+y)2=x2+2xy + y2
B) x=0

€) x+220

D) 9-5=4

If a=1 and b-l is'a solutlon of th|
equation 5g + p =175, then the value o
pis-

A a=1 R b=1, wlaww
Sa+p=17b &1 TG T &, °€ p &I
Y -
A) 12
© 7

(B) 5
@) 11

[PTC
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60 Solution of the equation

4

61

62

- 63

64

(©) 17

(4+a)(5-a)
(2+a)(7-a)

The cube root of 2197 is —

2197 &1 O & — -
(A) 13 (B) 23

D) 19

The squaré root of 3025 is -
3025 @7 T & -
(A) 65
(C) 45

B) 35
(D) 55

" Water in a canal, 6m wide and 1.5m deep,

is flowing with a speed of 10 km/h. If

- 8 cm of standing water is needed, then | .

how much area will it irrigate in
30 minutes ?

(A) 76.56 hectares (B) 56.25 hectares

| (C) 91.47 hectares (D) 80.76 hectares
o e 1.5 7 Tl e F T

LI RGIE
o afy @ 9 @ ¥ Ak 8w

aifea < & 30 fire & feem

11

Study the given line graph carefully t©
answer the question :

Ry T Y@ SIRE FT YR ST D

O5T @1 ST T \%f
S

65

N
1000 |-
900
800
700
600
500
400
300
200
100 |-

c€f°'

P (s ) —
Export (In crore)

——t—— g i >
O 5011 2012 2013 2014 2015 2016
() Years —

What is the percentage increase in export
from the lowest to the highest for the given

“years ?7 o ma |
R wet § e Pt & e
Prafr & Frer e @ FE g ¥ 7
(&) 400% ®B) 200%
(©) 250% (D) 300%

66 The perimeter of a certain sector of a circle

is equal to the length of the arc of a
- semicircle having the same radius, then
the angle of the sector in degree is -

22 i 270
(”,:-TF)- B = fffﬁ'
T B % oY % W @ e ¥ |
%,mﬁm@wmm%ﬁﬁ% _:

-3

(A) 65° 45 Sl"' (B) 65° 27 16"
(C) 65°45'45" (D) 6505 11

Sho S A%%s

[PTo,
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67 Base of a hemisphere, a

71 Tonu invested 10%

T ——

more than the

76

g cylinder .
cone is equal and als ; T and a : 75
The xatio of their vgltll:;hm.gh Is are same, ~ investment of Monu and Sonu mvestelci‘
@ TE T, T Yo o o 10% less than the investment of Monu.
- - RRUREE i ent of all the three persons
ST ST a8 % & the total investm y
-—f-fii = A W ey ¥ | 75 is T 60,000, the investment of Monu 1s -
(A)af.l_f'“%‘ - zﬁ,m@rm%mﬁﬁﬂm%am
© 23 1 ® 1:2:3 g, A ¥ 10% o P wea & 1AW
= B)3:2:1 iﬁﬁ'wﬁlﬁﬁaﬁrwﬁﬁsﬁéo,om%ﬁﬁ
68 A metallic sphere of radj @ PR ¥ - -
. C o dius 2.1 i
mgl'ters'({ atfld reset into sphere ball oi"n;mlli' (A) T 40,000 (B) X 10,000
o, radius’of origin sphere. H D) T 30,000
3" spherical balls can be mad(:y? many such (C) ¥ 20,000 0))
) “'\ 5™ . .
2/\\ \//\\‘( b ST A e 2.1 Sk e % R | 72 IFP(Y)is a polynomial of degree n 21 and .
3 5 et SEd el B ) e A . )
Sol-Cic 8 A e ) . (+-2) is a factor of P(t), then P(2) 1s -
REC Iy TR 7 T g tetermined .
b ¥ 2o L ~d (A) Can not be determine |
T Wl @2 e ®O Do
& ©) 4, D) 6 %T*/;:Qf’*‘\ ©) (t-2) ?Mv D
" . |
qf\.\nr 69  What-would be the printed price of a wall- 7 (D) 2
C{OQB;pSLi;clzla}sed at ¥ 380, so that after AR P(t), # > 1 T B TGUS & AT (1-2),
givin iscount, there is 259
N @ e wdt o g e’;;; i;g;;fgé P(t) #1 TF @S ¥, @@ P() ¥ -
' /fyj THHHT T T 3B0F W@ 5% R & (A)W“amwwf".
5 T OWE 25% W R 7 o {8 0
Ry W @) Te00 B) T 400 ©) (t-2)
. uo (© F 450 | (D ¥ 500 (D) 2
N ‘ et ST :
%ﬁé/y Out .of ¥ 20,000 Narendra gives some : :
: &, amount on loan at simple interest rate 8% | 73 i ' Ve v/ .
per ‘ahnum and rest amount at simple "I’he Haluc ol (250047)A _(13824)A \
o Yy \ is -
interest rate —% per annum. At the end ' -
: In er%sm) rate 3¥ ,0 per . um .e en (250047)% —(13824)% £ m .
IR 7}; of year, he earns ¥ 800. The amount given (A) 39 ,
o <9 ot 8% rate will be - S @2 (B) 23
| © % 320,000 & 5 TR 8% A T 52 (D) 33
it\\ 2 T - 4 .
e = T W oK dw wht z% @ | 74 Th 1 |
' % 3 e ) 3 ) ' ¢ value of (423801)/2 +(22801)y2
\f”y"FO ammm&iiﬁmarwm%m% L s -
- o & =¥ T 800 Y A AR T B | 1 |
S | (423801)/% A
B 89 ST T WX T & T Tl A - | )/2 +(22801)/2 T AW ¥ -
i . (A) T 12,000 (B) T 8,000 - (A) 812 B) 902
6,000 . < 10,000 -
(€) X 6, D) (€) 912 D) 802
12

651 X

[P.T.O.
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If A, B, C are the angles of a triangle,
then the value of
tan(B + C) + tan(C + A) + tan(4 + BY"
tan (zr — A) + tan(7 — B) + tan (7 — c)*
o

75

;S

is equal to -

afk A, B, C et Brpw & @ior ¥, @8

[ —]

tan(B+C)+tan(C+A)+tan(A+B)
tan (r — A) + tan (7 - B)+tan(n' ).

& I IOET & —
. (A) tan (A+B+C) (B) 0

Yy

{5

©) % ) :_J

If birth rate and death rate of a city is 10%
each, what willibe the approximate,
population of the city after 2 years, if
current population is 3000 ? =

O 1

76

uﬁ:qmamaﬁmatamqgnwaﬁ% |

10% % 1299 &% 915 96T | AT SHHET,
w1 oR afy I SeEET 3000 ¥ %
(A) 3000 (B) 2940
(C) 3060 (D) 3630 s

Area of piece of a canvas is 1105 m2:A&
conical tent is to be made by canvas with
base area 616 m2. Assuming that all the
stiching margins and the wastage 1ncurred
while cutting, amounts to approx1mat;ly
5 m?2, then the height of the tent is -

(A) 21 m (B) 20.71 m
C) 24m (D) 1820m
@W%mmmllosﬁz%l
Waﬂmﬁa@ﬁmaﬂaﬁm%
fre® omuR 1 Awww 616 M2 ¥ 1 T
mﬁgﬁ%ﬁaﬁﬁr{mﬁwsﬂﬂ
FTAE T g A | Y, B S §E
T (A) 21 | (@B) 20.71 A

€ 247 (D) 1820 #- .

77

[

L)

2% N \\\(L\
‘2':

78 The area of a circular ring enclosed_
between two concentric circles is 286 cm?.
What are the radii of the two circles if
their difference is 7 cm ?

(A) 13 cm, 6 cm '}Oq \& -
(B) 14.cm, 7 cm *\95
(C) 10 cm, 3 cm W q(/\é/

(D) 12 cm, 5 cm \ Ve -

& dRa T e TREE T T
e 1 AET 286 A2 | A g B

Rard @ ¥ R o ST 7 AW E T A Y
(A) 13 %ﬁr,h%ﬁ’r | ﬁ.,/
(B) 14 ¥, 7 ¥H | o %’//‘
(C) 10 ¥, 3 A AL
© 123 sF Wﬂﬂvv}

4‘% | )/L \\@ A

"Area of the smallest square that can

79
circumscribe a circle of area 616 cm? is - 3
(A) 764 cm? (B) 784 cm?
(C) 824 cm? (D) 864 cm?
36 B ¥ B @ F AABA 0 B vﬁ
616 o TN AFABE AW TA B ‘{U’iﬂ'ﬂ'l
(A) 764 %ﬁ’ﬂ (B) 784 A2 \5,3_%
qﬁ + (©) 824 ﬁﬁﬂ (D) 864 T2 ;\%\z
’H;e threev/ertlcésf f a parallelogram taker}’.-'—_d
in order are (0, 1), (2, 3) and (4, 3)
respectively, then the coordmates of the 3¢
fourth vertex is - A3
| ﬁiﬁrwagﬁaa;w@,“wmﬂ .
0, 1), (2, 3) e (4, 3) &, LT 6
Fréaie ¥ - %
(&) 2, -1) ® @1
© WD @2
y v\\
137
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Aol
| 1oczr1:1nc\l;rh haS: base radius 7 cm and height
+ What is the volume of a cylinder ?

(A 3 -
) 1500 cm (B) 1540 cm®

C
©) 770 cm3 (D) 770 & cm3

% J
& %mw%maﬁﬁm’/ﬁﬁraw
@y T U 100 ¥ | da o o F0E

(A) 1500 %3 (B) 1540 ¥

© 77034 (@) 7707

The radius and the height of a cone are in

‘the rqtio 1:3 and its volume is 1078 cm?,

_ then its diameter is - “ L
(A) 21 em (B) 3.5 cm

(C) 7 cm (D) 14 em

s gl W e g e o 123

qon T oA 1078 TR F, g FED

= ¥ - '

(B 35T
(D) 14T

(A) 21 &
(€) 73

 The ratio of curved surface area of two

spheres is 4 9. What is the ratio of their

: 22\
volumes ? n= ’7"

aﬁﬁ%mg@uﬁaﬁm@m}ﬁ ‘.

' mgmaﬁfmaﬁqmm%?(ﬂbzﬂ k.

.‘ (B) 9:4

Two identical cubes each of volume

64 cm? are joined togethe ‘
form a cuboid, the total surface area of

the cuboid is -

(A) 640 cm? (B) 80 em?
) 160 cm?> (D) 320 cm?
& g o R & s 64 TP

%#ﬁﬁﬁmmﬁmem

%, @ w w0 A e A & -
(A) 640 A1 @) 80 &
(C) 160 & (D) 320 T

The mean deviation from the median for

the following data is - -
34, 66, 30, 38, 44, 50, 40, 60, 42, 51

o i it 3 o e & A

- s .
34, 66, 30, 38, 44, 50, 40, 60, 42, 51
(A) 9.0 (B) 8.7
(C) 8.8 (D) 8.9

The miean and median of a frequency
distribution are 52 ‘and 55 re'spectiyely.
What is the mode of the distribution ?

frd oty omEeR § WIS Tl Licad
A 52 adl 55 &, T AEST H ERRED
FME 7 | ,

(A) 54 ®) 61

(Cy 53.5 (D) 53

An observer 1.5m tall is 20.5 m away
from a tower 22 m high. The angle of

. elevation of the top of the tower from the

eye of the observer is -

1.5 o S 22 A A T @ 2057

[E |ﬁ%,ﬂ?fﬂ“f@f'@fz‘l%r(%isﬁﬁﬁ
THUT BT — -

s (A) 27 : 8 ) (A) 75° (B) 30°
() 8:9 ' M(Pl'S-:‘27 T Y 450 (D 60° .- .,
. o H"ﬁ‘“ ) ~:_.l W X S aw, - < s
I g o A :
1 _ S 8 A @ P10 .
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88 The value 50° in radians is -

A
SO X Ny - gfh
5
(A) TR B) s0x :
| 5 b‘*@ .
© 5= (D) 5%,

89  The total surface area of a cube is 1014
square meter. What is the length of its

side ?
(A) 11 m (B) 6 m
(©) 169 m (D) 13 m

Th T B Y g G 1014
AT & | 99 BT O B g w7
(A) 119 - (B) 6 ¥t ‘

(C) 169 Oy 13+

90 The diameter of a circle is 105 cm less
than its circumference. The radius of the

\
%(\(,j

92  In which ratio the point (-3, p) divides the
line segment joining the points (-5, —4)
and (-2, 3) ?

s[5 3, p) fow orgama & figalt (5, —)

j"f/\ qur (-2, 3) F P W e il
ferwfira EETHT T 7 |

@A) 1: ®) 2: 3

D) 2:

Q‘: ©) 3: 2

93/~AIf the Selllng ‘price of 20 articles is the
same as the cost price of 23 aI'thICS then

- the profit percent is -

af 20 T B R qed 23 TG H
o T % WA ¥, 99 @ e € -
(A) 30% (B) 10%

(C) 11.5% (D) 15%

94 100g is what percent of 1 kg ?
100 3=, 1 fewm &1 feam wfaea & 7
(A) 1000% (B) 1% '
(C) 10% (D) 100%

95 Two numbers are in the ratio 6 : 7. If 4 is.

~circle is - . added to each of the numbers, the ratio
(A) 24.5 cm (B) 22 cm becomes 13 : 15, then the smaller number
(C) 23 cm (D) 24 cm gﬁaﬁwm67%|aﬁm
Qﬂiﬂﬁmmmm& 105 ¥ &H ._%,\bcmﬁﬁhym%fﬁ AR
(A) 24.5 {R (B) 22 ¥ ﬁ@b (A) 60 B) 36 A o S\R\S«k
(C) 23 & (D) 24 A . (C) 48 D) 56 a0 A\ 5
\ —
\
91 A right angle triangle has height 12 cm 8 25’ gs(t;m °°2;’et“’°"“ the points P (2 3=
— ls -
and base 4 cm. The area of triangle is : :
A)32sq.cm (B) 12sq.em ] ) 32 Units ~ (B) v2 Units b5
o A4S g
(€) 48sq.cm (D) 24sq.em __ 65-7(C) 52 Units (D) 242 Units o

@Wﬁ@ﬁmlzﬁamﬂ

(,L%ﬁP(Z —3)TMQ G, -2) ¥ 7 i

TR 4 q ¥ | Brger &1 & ¥ 0 > ,“-).-,\u, R
s el A3 -2
a) Rt B) 12F T '{{l\ﬁ%rﬂ‘\} Wewmd B g~ °
(C) 483"7- ﬁ"‘h (D)’24a‘f i "{té”’.b .), \o(g) 5‘\/_ ﬁl’g (D) 2_\/:2' m %— _'.?'5: |
M' 4 K
651 ;W ’-\«L\\l 2 f'57*K'S 5;‘2- U\"Y5 "[P.T.o%‘#:‘)
A’* AN < Az A
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99

100

) s

s X b

_ is compounded yearly then the time period

v

In which quadra

nt both abscissa and

@) ive 9
‘ourth

B) &
(©) Second ED; -Ili:lsrtd @
e agutsr ¥ : "
N RRIGE g C T e —
(A) Tge  (B) wuH
(ORF-ie (D) T
;Igir_zplaeltlngeljt i\:]}ich is four times its
%aﬁw,ﬁmwmmmum%—
(A) 75° B) 60°
(C) 68° (D) 720

A shopkeeper offers his customers 10%
discount and still makes a profit of 26%.
What is the actual cost price to the
shopkeeper of an article marked T 280 ?
T% GHMAR &9 AEH B 10% BT
wErE ot & feT A 26% v eiffa @ar
¥ 1. 280 siftpa o @ 9% & GHAER
e arafos sa qE@ AT & 7

(A) T 252 (B) ¥ 186.48

(C) T 200 (D) ¥ 207.2

The compound interest on I 10 lakh at
8% per annum is ¥ 2,59,712. When interest

is -

(A) 5 years (B) 2 years
(C) 3 years (D) 4 years
7 10 9@ &1 8% dIY® &l 3T ¥ awgha

ot £2,59,712 % | 919 < e 39 o
a9 qHaEy ¥ - | |
B) 2 94
(D) 4 %

(C) 3o

Sl

. e

101.

102

103

104

~ In which of

the following district industrial

centres of Rajasthan not 2 single large scale
industry is operating ason 3 1 March 2017 7

(A) All of these (B) Dausa
(C) Jalore (D) Pratapgarh

ﬁwﬁﬁrmwésﬁﬁaﬁrmaﬂa‘rﬁm
hﬁmqﬁzowzﬁr@sﬁa%&mﬁm

percent Felspar

e IREICR TSI

Rajasthan has — —
reserves of the country.
ST A 39T 6l

HER 3 |
(A) 66
(C) 50

B) 100
(D) 33

What is the share of Government of

Rajasthan and Hindustan Petroleum

Corporation Ltd. in Rajasthan Refinery ?

o Rl § e @R SR

E@ﬁﬁﬁiﬂmﬂﬁmﬁn o feedarll et
?

(A) 25:75 B) 74 : 26
©) 26: 74 (D) 75 : 25
Which of the following power projects of

_Rajasthan is under state's complete

ownership ? -
(A) Satpura Project

(B) Chambal Project

- (C) Beas Project

. Iy
 nx¥)
% Q Y6 .

LY\ = \%U")

(D) Mahi Project

frafafen & o )

i <ot 171 o o
R & 7

(A) wager sfemn

(B) = qREerT

(C) =@ yfEemr

(D) #rét wfEeF T e

e
Scanned by CamScanner
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105 Which of the following is first Super

106

107

Thermal Power Plant of Rajasthan ?

(A) Dholpur Gas Thermal Power Plant
(B) Suratgarh Super Thermal Power Plant
(C) Kota Thermal Power Plant

(D) Chhabra Thermal Power Plant

Frer & ¥ 2T TORAN BT TeE TR
A g WiE ¥ 7

() dragT #@ ari e wie

® YIATE IC a9 IEY Wie

(C)aﬁamﬁuww‘z
(D) BEsT A4 IET Wie

Which of the following categories of forest
covers.the maximum percent of area in
Rajasthan ?

(A) Protected forest

(B) Private forest

(C) Unclassified forest

(D) Reserved forest

friteee o= AR & § o ¥ e
ST WAt Wi & S T 7
(A) 0 T

(B) Frlt =

(C) erariiga a7

(D) SRt a=

The Gajner Wildlife Sanctuary is located
in which district of Rajasthan ?

" (A) Sikar ~ (B). Hanumangarh

65] >

© Bikaner (D) Churu

WWWW%W‘

P A Rea¥ 7
A) daT (B) TG
(€) SBMT- (D) 9w

108 Tharparkar breed is found in which reglon

_ of Rajasthan ?

109

110

_111‘

(A) South-East region

(B) Western Arid region

(C) Shekhawati region |

(D) Eastern region

Prefafad & A oM F B & ﬁ
AR T T AT 7 :

(A) af&m—q:o? &

(B) Ui =B &

(C) fr@mEr &

(D) i &

Red loam soil is found in d_istrict of :
(A) Bikaner (B) Sirohi

(C) Kota (D) Dungarpur
e ez Pl war e aren R ¥
(A) FHHT (B) fatiE

(C) D) ¥R
“‘Nathra ki Pal’ mine is located in district
of

(A) Barmer - (B) Ajmer

(C) Udaipur (D) Sirohi

memaﬁtna @Hﬁﬁa‘i‘ﬂﬁﬁmﬂuﬁ
X7

A) TR (B) sWERT

(C) S=agT (D) R

Which of the followmg Tehsﬂ has the

highest densuy of Sahanya tribe 1n
Rajasthan ?

3 (A) Mangrol (B) Dhariyabad

177

(C) Kishanganj (D) Chhabra
wmﬁﬁaﬁamﬁ%mm
FEfar ST BT sy 3 ) K
@ T (®) e

- (C) feerriw D) vEg

i [PTQ,
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113

65 ]

18

Match the following vire, ...
with their Correct IOCat'l dlife Ctiarjeq
‘ 6)) Ramgarh ( 10ng -
Sanctuary ) Dholpy,
(ii) Jawahar g |
Sanctugre, 2 ®) ch
(iii) Van Vvip,
Sancty iy © Bung;
(iv) Taal Chp, 28
SanCtUa appar (d) Alw
- 2:::& sy (e) Kota
- | e
T ST gy
amﬁ*]ﬁl’iﬁ q ﬁ:ﬁﬂgq oo W w
O T @
(iii) 97 fery - © &
V) T BT (d) s
STHARYg ‘
(v) afcesr (e) aﬁzr
SO G G ) )
A @ @ ©@ O (
B © @ @ © ©®
© @ ® @ @ ©
@ @© € @ @ @
Which tree leaves are used for making
‘bidi' ? | e
(A) Teak (B) Palash
(C) Dhokda (D) Tendu - :
P ga Bl afEl & ST G Frafor |
FEard ? .
(A) QFEH (B) et
(©) dwsT @) ¥
2

114

| 115

116

'Luni Basin' is a part of V\fhiCh br?oad
Physiographic division of Rajasthan
(A) South-Eastern Plateau.

(B), Eastern Plain '

ng)i WeSte;F lP)If:ls;ertRegion

(D) Aravalli Hilly o

S A o % feg fereger s
Rt &1 ww W ¥ 7
(&) Rr-gdi Tt

(B) Tttt

(C), wienlt wowrm
(D) STUSE TEISY WA

Which of the following is with gentle slope
or'sand dunes windward side and steep
slope on leeward side ? -

(A) Nebkha (B) Longitudinal
(C) Transverse (D) Barchan
Fyifeee 3 & i S e TR e
o 9 fe TR o A g & 7
(A) = (B) ergeed

(C) gy (D) TtE@™

()

What is Saksham Yojana under Sarva

- Shiksha Abhiyan implemented  in

Rajasthan ?

(&) It gives insurance

policy to
“— housewives.

(B) It ensures self employment to youth,

(D) It gives skill development training to

(C) 1t gives self defensive training to girls,

S youth.

TN 5 a9 @ |qd ‘ﬂ"*"”“ﬁm%

| SR W G

(© uz‘q'rﬁmaﬁa?rm%ﬁmmml

Y

© u%ggrmﬁﬁammmmm

[PTO.
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117 As per recommendations of Fifth State

118

L 119

651 X

Finance Commission of Rajasthan,
distribution of the allocated resources for
local bodies, is to be made in the ratio of -

(A) 50:50 to both rural and urban bodies

(B) 75.10% to rural bodies ami 24 90%
to urban bodies

(C) 70% to rural bodies and 30% to urban
bodies =

(D) 40% to rural bodies -and 60% to urban
bodies
W%WW%WﬁMﬁ
& ST R Pt 5 it s

& e s ¥ -

(A) 50:50 B mﬁ'm Tyl Pl %
ferg

®B) 75. 10%mwﬁwﬁraﬁaﬂ12490%
el el =

(©) 70%1:rlﬂwﬁaarq‘fa%q-q‘3:@m

e =
(D) 40%w?mﬁam‘ra?rqa6ﬁ%m
Which Article of the Constltutlon' deals
with  powers, authontles ~ and
responsibilities of Panchayats 9
HRET 1 e STgeds varad @ siwrl,

st ol Rrdeial & wifmd ?

(A) 243 (G) (B) 243 (A)
(C) 356 (B) D) 357+
i a Cat

When was Central Arid Zone Research
Institute set up ?

T O a8 GEHEFI e aﬂﬂaﬂ Lo
fpar AT °v ? ‘ 2
(A) 1985 (B). 1971 =S

- (C) 1966 (D) 1959

120

121

122

123

Which of the following institutes purchases
handicraft items directly from the craft
persons ?

fra & & ot s sfifeaal @ @9

T G S TR et H @it
¥ ? _.

(A) RBI (B) RIICO

(C) RFC (D) RAJSICO

When was Rajasthan State Mineral
Development  Corporation - Ltd. .
amalgamated with Rajasthan State Mines
and Minerals Ltd. ?

(A) 19 February 2003

(B) 20 January 1990

(C) 26 December 1995

(D) 1 March 2000

T T @ e frm fo. @
e TR Tew @ qa g fo, o
Hq goT ? |

(A) 19 &l 2003

(B) 20 sFElt 1990

(C) 26 fewraT 1995

(D) 1514 2000

Which of the following is not a rabi crop ?
- (A) Masoor (B) Rice

(C) Wheat (D) Barley

fre & & o el @ B waw TS Y ?
(A) 7T (B) Tw

© ® (D) s

Which of the following 1s not an agro-
based industry ? :
(A) Cement

(C) Khandsari

(B) Edible oil
(D) Papar ~ Bhujia

P & A pR-emaRe weiv 8

¥

(A) drve (B) @™ AW

(C) EmeErl - (D) W% - gy
[PTo,
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124 Who conce
ived the idea of th
Gandhi Canal Project ? of.the.Indire

(A) Kanwar Sajn

(B) Mohanlal Sukhadia -
(C) Jawaharlal Nehry

(D) Jamarayan Vyas

mmeﬁmqﬂﬁwiﬁrﬁﬂﬁm
fomr @ Suw ¥ 7

(A) HeT ¥

(B) wigee gaiar
(C) SaEteE TEs |
(D) ST =

125 How many districts of Rajasthan_lare
covered by Thar desert ?

o™ ¥ Reay el ¥ ar Y e

gem e ? ‘ _
A) 12 T ® s
© 6 - D7

126 Where is the temple of Goddess Tnpura
Sundari situated ?

(A) Chittor (B) Banswara.
(C) Udaipur "~ (D) - Dungarpur
frgar gadr @ @1 AT el Rua 87
@ fws - B CIEEIC

© mzrt BN G R ui (O

127 In ' which Hindu! month (VS is Teja 7

-Dashmi celebrated 2

(A) Kartik (B) Asoj
~(C) Shravan " (D) Bhadrapad

fra feg wEIY (f‘cm) ﬂﬁmﬂﬁ’t’ﬁl{
¥ 7

(&) COIRED (B) mﬁﬁf
(C) FaT . P) AR
6-5]_2

ey

20

128

129

130

. (D) Maharao Bahadur S

ich
‘Champakali ornament 1S worn on wol
part of the body ?

B) Neck
Eé; fli;d ED) Forehead
e, ST ari’r( Go ﬁmsr g aT 9T
ST ? |
(A) B (B)’ néﬁ'
© fT (D) mfn |

osed the formation of "Hadauti.

Who proP e the smaller states of -

Sangh' to integrat
Qouth Rajputana ¢ ?

(A) Gokul Lal Asawa
(B) N. B. Gadgil

(C) Maharao Bhim Smgh of Kota
mgh of Bund1

Wﬁwm%@%waﬁ@"fa
w0t % fog fee a-e?ré’raa aaﬁm
(Aiﬁmmm
(B) TA. s, TSR
(C) werta HmfE (ier)

<D>wwsrﬁm@) B

-

Which ruler of Jaipur composed poems
under the pen-name 'Brijnidhi' ?

(A) Ishwari Singh
(B) Sawai Jai Singh ' -
(C) Sawai Pratap'Singh~~

- (D) Sawa1 Prithvi Smgh

Wﬂﬁﬁmammaﬁﬁm

T Sy e &7

(A) $vaiiftis
(B) W% wrafie

() TR waRiE

@)W‘éq&hﬂa’s

t

[PTO
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131:. Which is the most popular Ra_]astham song

132

133

which describes the beauty of 5 young
girl ?

(A) Gorbandh

(B) Kurja
(C) Mumal: - (D) Sapna
BT AR merrh K U e & Wl
T qUT HIAT 7
(A) TREY (B) aﬂw
(D) gu=

(©) @

Name the-Ruler of Jaipur who served the
Mughal Court constantly during the reign
of Mughal Emperors viz. Shahjahan and
Aurangzeb.

(A) Raja Bhagwan Das |

(B) Raja Man Singh

(C) Mirza Raja Jai Singh -

(D) Maharaja Sawai Jai Singh

I qIEATE QeSS oy &
QT § Pt T @R & o w0
A TAYT & AEEH B A A |

(A) T T T

B) T qmﬂw B

(C) ot T wrafite |

(D) WERMT G SARE

Who was the founder ruler of Kota State ?
(A) Ram Singh

(B) Madho. Singh

(C) Mukund Singh

(D) :Kishore Singh .
FreT T H HUE AEE DrT A7

134

135

(O = ReeiR

136
- per the announcements made by Reserve

137

Who founded Vardhman Vldyalaya in
Jaipur ?

(A) Heera Lal Shastri

(B) Vijay Singh Pathik

(C) Tikaram Paliwal

(D) Arjun Lal Sethi

Saqe X qgAT R @ @ %&ﬁ
a7

(A) T e

B) fremfts ufs

(C) SN UTeirare.

(D) ST |l

Who among the following was one of the
leader of the revolt of 1857 in Kota ?
(A) Kushal Singh (B) Jaidayal

(C) Nand Kishore (D) Kanhaiyalal
Praffaa ¥ @ @9 s § 1857 & s

& TH gt ar? )
(A) Fy@Rie (B) VIUSAN
(D) &g

What is the currént Repo Rate in India, as

Bank ofIndlamJune 2018 ?-

ford &% offe 3R @ o 2018 F A
néa‘rwaﬁaaaqgmmﬁaﬁqﬁﬁ
THRE?

(A) 6.1% (B) 6.25%
(C) 6% - D) 5.75%
In which one of the following cities, | the .

Government of India will establish Indig’ S
largest data centre ?

(A) Jaipur B) Bt'eii‘g'aluru'
(C) Bhopal (D) Indore
e A 4 foow 91et ¥ e T TR 5y

I T91 - AR Wil wyy
(A) TIYY " B) ¥
© W (D)-:af
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138 National Digital Library of India is a

project: of which one of the followmg

ministries ?

(A) Ministry of Human - Resource
Deve]opment

(B) Mlmstry of Finance

(®)) Ministry of Education, Sc1ence and
Technology

(D) Ministry of Information Technology

¥ ¥ fopg g & Weee ¥ ?

(A) AT FETee fem Her

(B) fo wsmera

(C) faem, fosm = aarvha%‘r HARTE

."(D)@maao—-ha%wm
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In Rajasthan on which one of the following
dates, the second phase of ‘Mukhyamantri
Bhamashah Swasthya Bima Yojana’ was
started ?

- (A) 13 Dec., 2017 Sl

(B) 1 Jan, 2018
(C) 26 Jan., 2018

(D) 25 Nov., 2017

Wﬁﬁﬁfﬁ@rﬁmﬁ#w
Wﬁﬂgweﬁmm%ﬁ?ﬁuw

@1 STTeH fopar 4T 7
(A) 13 fegsT, 2017
(B) 1 Sad, 2018

‘ (C) 26m=|zr& 2018

140

(D) 25 7@E%, 2017 ...

Omprakash Mltharwal ‘has won Wthh of
the following medals in** recent

“Commonwealth Games ?

(A) None of these (B) Bronze
(D) Silver

141

1 i ted in
‘Ratadu Well’ is situd
The famous ‘Bata Jistricts © £

which of the fOIIQWing

Rajasthan ? 4

(A) Dausa (B)' Barmer

(C) Jaipur (D) Bharatpur
s ‘g it e & fe A W

fpg et R & 7

(A) S (B) AT

(C) sAYT D) ‘W‘ET

142

(@A) TS

143

22

'‘Gararda Vrihad Peyjal Pariyojna’ is related
to which of the following district of

Rajasthan ?

(A) Jhalawar B) Buhdi"

(C) Baran (D) Kota

TEEl gER YIS e TR é‘s-'
P A ¥ fom el @ Wﬁﬂa % ?
®%®

(C) s (D) tﬁm

What is the new name of the ‘Sports
Authority of India’ ?

(A) Sports India

(B) Central Sports Authonty
(C) Department of SpOrts
(D)‘ Authority of Sports l ;
W el st "553'*11 ﬁr T
®ME ?

() W e

(B) ¥zw Wy sidf

©) Rz oiiw wiw

(D) SRy sifw i
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| ,144 Who, -among the followmg is the 21st 147 Accordmg to Budget announcement
: Lieutenant Governor of Delhi ? | © ..2018-19 what will be the’ salary of -
(A) Arvind Ke_]rlwal Asha Sahyogm1 in Rajasthan ?- ' '

(B) Anil Baijal , 2018-19 &I IHE TIOM & SRSIN Wﬁ

.
.

(©) Tejendra Khanna \ - ¥ ‘amen wEARTY W o= @@ B ?
(D) Najeeb Jung iy, © (A) 2200 (- (B) XT1,850
ﬁﬁﬁﬁﬁqmmlam%? (©) T2,000  (D)T2,500
- IERAEY | 148 Which one of the following Military
(B) st dore - : S A - stations will be developed as smart facility"
© a@ﬁ'@ﬁT o o -7 g under the Smart City Mission ?- :
(D) ol it " (A) Jodhpur’ ~ ~ ‘(B)-Bhatinda

(C) Wheeler Island (D) Jaisalmer

145 _What is the aim of Van Dhah Scheme of Prefvfea A @ FEn fed ReE W

| Government of India ? ' . frdt frem & g e Hiafedl & wﬁ ’
(A) Empowering Tribal commurities | . {4 fear smgm ? |
economically . . | (@A) ST (B) wfevst
(B) Increasmg forest cover . (©) 2T 29 (D) Erart-rdl |
} © Restrlctlon on slash and burn | - ' &
| agncult.ure e T 149 Ayushman Bharat Mission is related to
(D) Preserving Biodiversity * - which one of the following sectors ?
A @GR B I T AR aA F®E? | (A) Sports (B) Education
(A) SR & et HSW " (C) Health (D) Finance |
" ® - I'ﬁ;m?;;??sﬁmmﬁwﬁﬁ
(C)R?mqug‘eﬁ@‘cﬁﬂuﬁ’éﬁl H ' - R
5 e (A) & (B) T
(D) St | © 7A@ B
. . po . Ao 3 '.l' ) g . ' ‘ ' R

146 Varun-18 is an e)fefCIg? relg‘ted to. which 150 Who among the followmg is the present
one of the,fouo?rlng 4 A ‘ Central Vigilance Comm1ss1oner of India ? .
(A) Disaster;Relief Force. . . (A) Alok Verma -

(B) Naval - v -, % | . (B) Shri Sharad Kumar |
(©). Military SN ~ (C) 'Dr. Tejendra Mohan :

_ () Aitforcé "~ \ " | (D) K. V. Chowdhary”" . 5
mlswmﬁmﬁﬁﬁmﬁ | ﬁwmﬁﬁﬂww%aﬁmqmq
qafaa ¥ 7 : | Harchal g & 7 ,

(A) SIRT ed o (A) gﬁm ot .
®) T e, fded - (B) T AT I
- ; (C) . dor % Hiew
© e i Lo o &
| | e e D) % & dud
S Y : 5 2 ' 2 [PT(\
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